—— A
N = 0] &F AF S & AN A
20188 = 20l A LBt H D=EH= I
2N WEANSI
HE: BASSHN 7S
Sl WASEIIE 2E CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
W= 39,862,843 41,840,990 N 1,978,147
= 10,000
Jl 274,192
Al 803,107
= 38,775,544
HMSESHHMH 2= 564,830 495,116 69,714
HMSEED|EE = 564,830 495,116 69,714
HMsSIE2Y9 43 19,960 19,360 600
201 et 8,560 8,560 0
01 AP 2t 2] H| 560 560 0
ogds< 560
OBMBIEES BHLY
70,000 *8H *13] 560
02 E2=2=2%H| 8,000 8,000 0
02222 ¥ HMA 2,000
OdZ2EMSFSEAIE@ 23 3/Hl 2,000,000 2,000
O A& ZHl SAldl 6,000
OEMstE SHOIKN S22
500,000 x12& 6,000
202 o4 | 3,000 3,000 0
01 2Ll 3,000 3,000 0
O 22 (o4 H| 3,000,000& 3,000
204 = 2 4= A H| 8,400 7,800 600
03 SEHLRAH| 8,400 7,800 600
OLfel g =4l 50,000& «14H x12& 8,400
B MEISEAAY 255,000 245,000 10,000
201 Bt 60,000 60,000 0
03 A2 G H| 60,000 60,000 0
O233040 Z2Z2 A E(akEHD]) 20,000,000 20,000
O©OS2F3040 2222 M E(BHEHD]) 20,000,000 20,000
o=sx=oUEX 20,000,000& 20,000
307 2izto| A 105,000 105,000 0
02 QIZIAAAIE E X 50,000 50,000 0
oZBMSESSOOte KN 20,000,000 20,000
ORRIIE SFeHHIA 29 30,000,000 30,000
05 QIZ2tR E 2 55,000 55,000 0
OY9MEBIHESS T2 &4
55,000,000 55,000
308 XX G SOl A 90,000 80,000 10,000
10 212 SUHUSHEAXEAE AL Y| 90,000 80,000 10,000
o=s=02t4I0] 24 40,000,000 40,000
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mE=ysE=mni:
BASEA 7S
HMSEI|IB 25
5 - 4
SN ED B (3H) - MEAY - BAS ol &k o8 %@i
ostsagd el Ces A Y 50,000,000 50,000
ZMstE 8retg) 31,000 31,000
201 LBt Y| 20,000 20,000
01 AP 22| d| 20,000 20,000
Ogbtx& 20,000
OME T 2 7
5,000& *1,500H *23]| 15,000
OsBE= 2,000 x1,0000H x23| 4,000
OANRESE 1,000,000 1,000
301 et A= 1,000 1,000
09 #HAIAHIE 1,000 1,000
OZE IR A 40,000 *25% x 13| 1,000
401 Al HIRE 10,000 10,000
04 SHAF2HS Al 10,000 10,000
(OF=RAR=I=] Xl 5,000,000 x23| 10,000
NEIsed 25 187,150 164,756
101 2121 H] 17,670 19,396
04 JI2ZtHIZ22NEE S 17,670 19,396
O 2= RCE 17,670
[OPIE=r=; 60,2403 1H x 167 10,061
(@F=3TE~ 60,240 x1H »76L 4,579
OnsEtl 5,000 x1H ~167L 835
o2&l 5,000 x1H x167L 835
OE=E 960
. BHS Xt 40,000 x 1 »8& 320
. = - HIE 80,000 14 x8& 640
O™ A SIHYI 400,000 *1H *13] 400
201 gEt24Hy| 43,080 31,360
01 AP 22| d| 13,080 11,540
Oobt& 10,000
O& 10,000, 000& 10,000
o2d9s¢ 3,080
O2ZR0 Mt
70,000& x22H 23| 3,080
03 A2 EH| 30,000 19,820
OS2SFMHAANCIDNE 84 30,000,000 30,000
203 SR F & 5,200 5,200
03 AIZH =X 2= X H| 5,200 5,200
O=2ZFRCE D= 2K 5,200,000& 5,200
301 et A= 6,200 3,800




M DM
M BMSSHE 2
el BMsEIIY 25 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
09 HALAHIEA S 3,800 3,800 0
OSFACE 2el ATHAEA AYIB4
10,000& 38 x 103l 3,800
1M1IIEBEAS 2,400 0 2,400
OZS=RCE 2UARE S JIet24
20,0003 x5 x24 3| 2,400
307 glz2tol & 70,000 60,000 10,000
02 It MAMHEE 70,000 60,000 10,000
OZSFRCE FUSSHSALS 70,000,000& 70,000
308 XXM SOIA 45,000 45,000 0
08 WFJ| 20Ut E=x 45,000 45,000 0
ONZINSLHDSZATSD XA
45,000,000& 45,000
SEE BMSsE MY 35,000 35,000 0
201 L2l 35,000 35,000 0
03 &Ar2 I 35,000 35,000 0
OOt && MHIA 35,000,000& 35,000
ROt= 2SSt 36,720 0 36,720
201 Let2d] 6,000 0 6,000
01 At 22l 6,000 0 6,000
ostsME 500,000 = 120H gt 6,000
301 gt L= 30,720 0 30,720
1MIIEBELSS 30,720 0 30,720
O Z Akt 30,720,000& 30,720
Kl SO0 & 1,225,777 822,475 403,302
SSAME 24 & 24 1,225,777 822,475 403,302
=2 2oEXNHEH 22 1,225,777 822,475 403,302
201 £B-2%H| 102,697 97,082 5,615
02 =224l 102,697 97,082 5,615
03323 % HA 102,697
O22E=2RdH 232= 102,697,000& 102,697
308 MXIEHSOIH 267,900 218,400 49,500
1037/ 2S0HUHeBHEAE ALS I 267,900 218,400 49,500
OZstZH Zz)dH 2 192,060, 000& 192,060
oXdge H=Eg s 24 15,000, 000& 15,000
ogZdze =y 60,840,000 60,840
309 MEZ 430,840 352,368 78,472
01 SAt- SHINTES 430,840 352,368 78,472
oO2dEs=RNdH 29 430,840,000 430,840
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2N

WEHS

Ba: X oY
Sl BBAE T4 U 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
404 SASHTEZHES 424,340 154,625 269,715
01 SAt- B2 E= 424,340 154,625 269,715
O2L=a=XNME 23 424,340,000 424,340
70t x= &8 = XA 5,700,596 5,316, 166 384,430
Al 320,000
i 5,380,596
=0, =-S5 MEXZE 5,700,596 5,316, 166 384,430
Al 320,000
i 5,380,596
st A& 5,700,596 5,316, 166 384,430
Al 320,000
i 5,380,596
201 ¢et24] 31,120 32,630 A 1,510
01 At 2t 2l 1,120 630 490
o=24d+¢ 1,120
Ou=sZdl eIz &+
70,0003 x3Y 13 210
Ogtusal dofIds 4
70,000 x6H 13| 420
OMeMEIRAS X+
70,000 7 *13] 490
03 &AL Z I 30,000 32,000 A 2,000
o=2&2 sult MEgsgs 22,000,000& 22,000
Ox=sstd oAU e 8,000,000& 8,000
202 044l 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
O&2| ™o dl 2,400,000 2,400
307 21201 A 108,000 140,000 232,000
02 IZtEHAHE L 8,000 0 8,000
oOxzsseY eldus XA 8,000,000& 8,000
05 212t E = 100,000 140,000 A 40,000
O da24dE JHBE 24 100,000, 000& 100,000
308 XtXIEHHSOIA 5,559,076 5,141,136 417,940
Al 320,000
[ia 5,239,076
08 WSEII20HetE = 5,527,076 5,109, 136 417,940
Ostugd XA (R -=-5- 1)
2,200,000, 000& 2,200,000
O4ld Q2 sSsdgtxd &
80,000,000& 80,000
o0Zeun 4 XA 300,000, 000& 300,000
Oz S4ldl K& 640,000,000 640,000
Al 320,000




2N DEHSD
HM: Q0= S = I
e R0, x-S MEXE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 320,000
O2a424AH X 2,307,076,000& 2,307,076
10 B 2SN USHAE AN E A 32,000 32,000 0
O0IIt= WSt As 29 32,000,000 32,000
Nsus N 5,000,000 5,000,000 0
st XN 5,000,000 5,000,000 0
s X 5,000,000 5,000,000 0
306 =132 5,000,000 5,000,000 0
o1 s 3 5,000,000 5,000,000 0]
OUNIST €&D0|12 XA 5,000,000,000& 5,000,000
ME s 2435 25,494,230 28,307,664 N2,813,434
J| 274,192
Al 378,107
= 24,841,931
HNEeg2s L SHAIKA 2,851,868 2,855,845 N3,977
J| 274,192
Al 378,107
= 2,199,569
=2ssE 29 1,107,356 923,495 183,861
Al 215,000
= 892,356
201 et d| 20,104 10,104 10,000
01 AFR 2t 2| H| 8,504 2,504 6,000
oget4d9d| 2,000
O2st 29838 7¢ 2,000,000& 2,000
oOYUX= 6,504
osgge =4 F4D| oA 42 000& «12& 504
OXfQIHAE =i 2AXE 500,000 ~12€ 6,000
02 2224 4| 11,600 7,600 4,000
02222 ¥ HMA 11,600
Oo2gd =4 2202 4,000,000& 4,000
OXIHAE =A ZZR2 4,000,000& 4,000
OXQ HAATIXE X SFH|
300,000 x12& 3,600
202 044l 3,000 3,000 0
01 2Ll 3,000 3,000 0
O 22 (4 H| 3,000,000& 3,000
301 et A= 1,054,252 910, 391 143,861
Al 215,000
= 839,252
Vo=t - 2sESE2M2 1,054,252 910, 391 143,861
o8 29 634,504




25 DEMESH
M MENs 2435
S HSES L HAXE (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
osz 269,577
. NEXt 3,868,300& x1H x12& 46,420
R 3,099,400 x6 x12& 223,157
Al 125,000
= 98,157
(OF == 22,466
. NE= Xt 3,868,300 *1/2+«1H «23] 3,869
. = 3,099,400 x1/2x6H *23| 18,597
O&d=2g It 32 60,000& 3 x12& 2,160
Os=< 40,000& x5H x12& 2,400
OFAHZAH| 130,000& »7H x12& 10,920
OY &SIyl 26,958
. NEXt 3,868,300% *x0.6%1H *x23| 4,642
e 3,099,400 x0.6%6H x23| 22,316
OHIIBA=
269,577,000 x1/12%86%1/30% 12 *80% 6,183
(OFSF=3= ] 11,940
. NE= Xt 155,000 x1H x12& 1,860
, A= 140,000& x6H ~12& 10,080
Osgxd 17,400
. NZ Xt 250,000& x1H x12& 3,000
& 200,000 »6H x12& 14,400
OXNEXEE 100,000 x 19 »12& 1,200
OXNZ= X &sHl 500,000& x1H x12& 6,000
O2tAH] 50,000& *7H x12& 4,200
O B 500,000& x6H x12& 36,000
O& &2 25,000, 000& 25,000
Ol =l 17,870,000& 17,870
oz2ss3Hl 37,910,000 37,910
Ost=4HY AZFH| 2,000,000& *13| 2,000
Oslga ZAZ 20,000, 000& 20,000
Oz &o+t&t 58,000, 000& 58,000
OZ&t| 54,320,000& 54,320
OXd=2MUHa&EII2H 2,000,000& 2,000
OHOMQ HAATIXE 2 419,748
osz 234,200
. NEXt 2,895,400& x1H x12& 34,745
R 2,770,200 x6 x 12& 199,455
Al 90,000
iy 109,455
(OFS ==, 5,592
. NZ= Xt 2,895,400 x20%* 1 23| 1,159
. = 2,770,200& x20%*4H *23| 4,433




=
=

D dENE 24t
= S
=}

P HSES 2 MK )
BB - Sl (31) - NRAY - BES il 2
OFSE=l= Pl Fig= 50,0003 x2H 128 1,200
O&AZE X 11,940
. KNS X 155,000 x 1H x12& 1,860
o M= 140,000& 6 122 10,080
O =2 500,000& x3H x12& 18,000
(OP) ==E =4 40,0003 x5 128 2,400
OFHZ Al 130,000 x7H x12& 10,920
OZEFOtHI 23,421
. NEX 2,895,400 *0.6x1H »23| 3,475
. A 2,770,200 +0.6+6 % »23] 19,946
OgltEs=
199,489,000 *1/12%86%*1/30% 12 x80% 4,575
Ogdsg 17,400
. KNS X 250,000& x 18 128 3,000
o M= 200,000 x6H 128 14,400
OXN&EXt+< 100,000 x1H x12& 1,200
OXE&EX g=H 500,000& x 18 «128 6,000
Oztald| 50,000& x7H 128 4,200
o1l =l 18,000, 000& 18,000
O &S 5,000,000& 5,000
o2sE3Hl 4,500,000& 4,500
Otz gda Z& 21,700,000 21,700
O3 &otZdl 28,500,000& 28,500
Od=0U= &FIt=A 1,000,000& 1,000
406 JIEFXH 20| W 30,000 0 30,000
01 JIEtA =201 A 30,000 0 30,000
OFMHAHAE =4 MNEZSS 30,000,000& 30,000
Keld =200l X& 5,000 5,000 0
201 L2l 5,000 5,000 0
03 & A2 | 5,000 5,000 0
OK2ld 8= G0l A 5,000,000% 5,000
2 ds3 NA 221,226 196,916 24,310
301 et a = 30,000 30,000 0
06 212toI =2l 04 Hl 30,000 30,000 0
OM=HH =2HMn= 30,000,000& 30,000
307 gl2tol & 191,226 166,916 24,310
02 IS AHEE L 7,000 6,000 1,000
O2FZH=3 AHAS XA 7,000
OJZsdENssE 7,000,000& 7,000
03 QIZtHNHE2HHE X 184,226 160,916 23,310




M DM
M MEHs 2435
S HSES L HAXE
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
o= M=3 2d9XH 184,226,000 184,226
cHE s & SHALASZH X 53,720 53,720
307 glz2+ol & 53,720 53,720
02 QIZtE M AHE X 53,720 53,720
oO=UE A=Y K& 35,720,000 35,720
OSHWIA=EZE 243 XA 18,000, 000& 18,000
MEsws X3 20,286 20,286
Al 10,143
s 10,143
307 glz2tol & 20,286 20,286
Al 10,143
s 10,143
02 LIt MAMHEE 20,286 20,286
OMEM=ENA 20,286,000 20,286
Al 10,143
s 10,143
el Msna X2 4,320 4,320
Al 2,160
[ia 2,160
307 21201 A 4,320 4,320
Al 2,160
[ 2,160
02 YAFAAFEE 4,320 4,320
O0eol HNsua 4,320,000 4,320
Al 2,160
s 2,160
dAE Mews XN 4,320 4,320
Al 2,160
s 2,160
307 21201 A 4,320 4,320
Al 2,160
[ia 2,160
02 IZtE S AIHE XL 4,320 4,320
(OF=E= I F=BmEs] 4,320,000& 4,320
Al 2,160
e 2,160
ZaHM=s0E K& 3,960 3,960
Al 1,980
e 1,980
307 glz2tol & 3,960 3,960
Al 1,980
s 1,980
02 QIZtE M AMHEE 3,960 3,960
OF=H=Us 3,960,000 3,960




2N

X{ XH -
S =

Y ER L
S HSES L HAXE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 1,980
s 1,980
UBLTMETSX A X (B8SXH) 360,260 342,088 18,172
J| 129,300
Al 82,650
s 148,310
307 glz2tol & 360,260 342,088 18,172
J| 129,300
Al 82,650
s 148,310
02 It MAHE X 360,260 342,088 18,172
OLBIMET ST A BRI (2SXE)
360,260,000 360,260
J| 129,300
Al 82,650
s 148,310
HEAMMEMSXSX H(2SKH) 196,560 155,340 41,220
J| 77,580
Al 49,590
s 69,390
307 glz2tol & 196,560 155,340 41,220
J| 77,580
Al 49,590
s 69,390
02 It M AHE L 196,560 165,340 41,220
ONENMEHNSXNEX HI(2SKH)
196,560, 000& 196,560
J| 77,580
Al 49,590
s 69,390
AE=2H0IEA XA 96,160 79,200 16,960
J| 67,312
Al 14,424
s 14,424
307 gl2tol & 96,160 79,200 16,960
J| 67,312
Al 14,424
s 14,424
02 IZHE M AHE L 96,160 79,200 16,960
OAZ=2H0IEA X 96, 160,000& 96,160
J| 67,312
Al 14,424
[ia 14,424
=8 2008 XA 156,600 155,100 1,500
307 glz2+ol & 156,600 155,100 1,500
04 QIZFHALAIH B = 156,600 155,100 1,500
O=glal 4l 5,000,000& 5,000
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2N nEMs
M MEHE 2435

S HSES L HAXE (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OHM203 2% s7U3 13,600,000 13,600
OHM203 2=+ 2= 5,500,000& 5,500
OHM20a =Z=%=J| HILAWNS 5,500,000 5,500
O M?203 =2£=J| HOIE=SUSI 5,500,000& 5,500
O M 193 =2==J| BHECIE 3 13,000,000 13,000
OHM193 Z2=xJ| &322U3 7,000,000& 7,000
OHM193 2=+ EFUS 5,500,000 5,500
OM183 == =& W3 5,500,000& 5,500
OHM17a Z2=%=J| HI=2UH3 5,500,000& 5,500
OM 158 =2=J| oF=2UH3 5,500,000& 5,500
O M43 2+ SEHUHS 5,500,000& 5,500
O M58 2% 2EAl SOUSHONE=US
5,500,000& 5,500
OHM11a 2% 2= 5,500,000 5,500
OM138 24D IHel2ct0lLtHsl
5,500,000 5,500
OHM10a 2% =g2U3 5,500,000& 5,500
OHM93l 2% 28|23 5,500,000 5,500
OHM9& Zz%=J| AFHAWE 5,500,000& 5,500
OMB83 2£)J WMaABZHI 5,500,000 5,500
OHMB8z =2+ SA&UZ 5,500,000& 5,500
OM63 =Z=x=2] 24243 5,500,000 5,500
OHMb53 Z2J| HAALX(T 5,500,000& 5,500
O MB83 =Z==J| BE>U3 5,500,000& 5,500
O M43l 24| =203 5,500,000 5,500
OM33 Z2%J| RIIU 3 4,000,000& 4,000
OM23 2% =3 4,000,000 4,000
MEtH=s 243 X 317,100 277,100 40,000
307 QI2t01 & 317,100 277,100 40,000
02 Q2B AMAIEE =X 40,000 40,000 0
ON=2Ual (HHeILE) SHXANY
30,000, 000& 30,000
ORaE=ssd ¥ RUYHALAEXE 10,000,000 10,000
04 QI2tSH AFAFS B X 277,100 237,100 40,000
OHM213 AIMEHUZH 96,500, 000& 96,500
OXNEE U 2dBtE =03 12,000,000& 12,000
08.H MEHSUHI(EF,HI7)
24,000,000 24,000
OM=CQl soIsUa 17,000,000& 17,000
O&AE AL 2003 30,000,000& 30,000
O2F JIIEAMHE 20103 60,000, 000& 60,000
o2 JIISHHEUEHE U3l 4,000,000 4,000




2N nEMs
M MEHE 2435

Sl HSES 2 BAX (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAHNOIESHES AU 3,600,000& 3,600
OsY M=8g2s dits dEgial
30,000,000& 30,000
d30U3 HE XA 305,000 235,000 70,000
307 glz2+ol & 305,000 235,000 70,000
04 QIZFHALAIH B = 305,000 235,000 70,000
oF= =8 27 As22] (3
90,000, 000& 90,000
ONE= H=0AELUE 75,000,000& 75,000
oL A MI MIBLHE 60,000,000& 60,000
OHM4z 2zt 83 AZx=2240/2U 3
80,000,000& 80,000
HMsAE €8 & 2l 22,642,362 25,451,819 A2,809,457
MEHSAE &X 3,364,212 3,666,293 A 302,081
203 YR =&l 1,000 1,000 0
03 AIZ=XH R =AH| 1,000 1,000 0
OMESAL SX 28 Y2EA
1,000,000 1,000
401 AIEHI L 2 CHEI 3,363,212 3,665,293 302,081
01 A& tI 3,350,000 3,645,000 A 295,000
O2sd =224 HHIZA 300,000, 000& 300,000
ORI H AUXZECl WM A
650,000,000 650,000
OFENOE=SE st EXSA
60,000,000& 60,000
OSEESE 34 € dA EXSA
300,000, 000& 300,000
OSIdNEI3E SYI4 EXSAM
180,000, 000& 180,000
OU=HOEZH NSEXSA 250,000,000 250,000
o= dIFNS B AXBA
120,000, 000& 120,000
OHd=HUSSHE Z&IE UAXZTO EXSA
120,000, 000& 120,000
OH=HUURSHE 02X HI3A
520,000,000 520,000
OFSHOEEE XNESEXSA 250,000,000& 250,000
OSEUSHSAE =4 2X0HY
200,000, 000& 200,000
ONSAL B2IS FAB NEEY 2 BAFL
A 400,000,000& 400,000
03 AlE 2 THHI 13,212 20,293 AT,081
OA &SI 13,212,000& 13,212
MEHSALE S 2l 3,385,681 3,239,687 145,994




2N nEMs
M MEHE 2435

=
el MSAE 48 ¥ 22l

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2 et | 1,178,249 1,068,882 109,367
AtS 2t el i 70,445 61,650 8,795
O el 3,000
OAS MSAME ANERK 228 2
3,000,000& 3,000
oYXz 67,445
OA& MsSAE =381 S
(REZTAAINE 2 7HA) 67,445,000 67,445
=323l 1,107,804 1,007,232 100,572
0332 % HA 1,107,804
OMESAE 2 (AZ223E) 1,085,760
. JIIRe3 479,784,000 479,784
. Aot ERS 130,284,000 130,284
st 49,992,000 49,992
. EANARSB 425,700,000& 425,700
OLZE MSAE 2323 22,044
. HOIEESE, Z47ES 3322
19,800, 000& 19,800
. SENOCESZE AgorA el
2,244,000 2,244
b= 1,116,395 1,362,658 A 246,263
SA- SHILNTES 1,116,395 1,362,658 A 246,263
OAME2eZH HSAE 29
1,116,395,000& 1,116,395
401 Al HI K 201 I 868,437 550,447 317,990
01 A& HI 863,000 547,000 316,000
Oz =0UNSs4dH Ms2 =4 FIt &X
30,000,000& 30,000
O 38 ARIAMSAIE Ttet EHl
15,000, 000& 15,000
O=22HUAZE HHISA 120,000, 000& 120,000
ONYHNE=SE &= 2t WX SA
130,000, 000& 130,000
OFEa="d &0 HM=&g Hl
20,000,000& 20,000
ONEBRATZXNZD BXFE SI3MLAIA
320,000, 000& 320,000
OMS 45 MESAIE vt Ul S A
15,000, 000& 15,000
odd LIHNOE=SH AXED EX3A
35,000, 000& 35,000
ONSHSSE PEHAF 2 WALS
It 89 28,000,000& 28,000
OHEMSAE 25 SN E=H
150,000, 000& 150,000
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2N

WEHS

Hu: MBHS BAE
ool MSAA Sy o el (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 AIE 2 0HHI 5,437 3,447 1,990
OAE = 863,000,000 *0.63% 5,437
404 SASHIAEEES 222,600 257,700 A 35,100
01 SAt - SEHIESEES 222,600 257,700 235,100
OA&ZelsH MSAE 29 222,600,000 222,600
=M HSsHdE 2 1,931,786 1,894,189 37,597
308 XXl & S0 & 663,648 544,342 119,306
10 ZIIBSOICHEZ ARSI E A 663,648 544,342 119,306
O2¢ZstdsdH 2208 29
419,648,000 419,648
O&FAze =Yl 244,000, 000& 244,000
309 MEZ 1,252,038 1,237,907 14,131
01 SAt- SHINTES 1,252,038 1,237,907 14,131
O24IZsHsHdH 29 1,252,038,000& 1,252,038
404 SASHAEHES 16,100 111,940 295,840
01 SAt- BHUAEHES 16,100 111,940 295,840
O2UZsNsdH 29 16,100, 000& 16,100
s UdsdEH 29 2,303,683 1,926,270 377,413
308 MXIEHSOIH 799,797 518,302 281,495
1037/ 2S0HUHeSIHHAEALS I 799,797 518,302 281,495
OZoM=sHH Z208 29 K&
449,797,000 449,797
O&FAze =S| 350,000, 000& 350,000
309 MEZ 1,375,986 1,021,728 354,258
01 SAL- SHINTES 1,375,986 1,021,728 354,258
osFzZ3UMSHH 2 1,375,986, 000& 1,375,986
404 SASHHEHES 127,900 386,240 A 258,340
01 SA - SEHIUSEES 127,900 386,240 A 258,340
osx=2=320UM=sdH 24 127,900, 000& 127,900
SEFTENE3E =L AS (AHSHI) 11,657,000 7,017,500 4,639,500
401 AIEHI L 2CHEI 11,657,000 7,017,500 4,639,500
01 A& Hl 10,770,000 7,000,000 3,770,000
OSFZTENMISSY &MY
10,770,000, 000& 10,770,000
02 Zeltl 862,000 0 862,000
OSFZENESIA LAY 862,000,000 862,000
03 A& S THHI 25,000 17,500 7,500
o=l 25,000,000 25,000
HYAL=X SHH3G 1,707,210 1,746,000 A38,790
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23 HLdEZ=dEH 29 844,230 0 844,230
201 Let24dH] 131,000 0 131,000
01 At 22/l 108,000 0 108,000
os=2sgdy MA 20,000,000& 20,000
oORILRE 70,000,000& 70,000
OYxt= (HId, =1, SAII) 18,000,000 18,000
02 =224l 3,000 0 3,000
OZx=SHH& SH St 3,000,000& 3,000
03 &AL Z I 20,000 0 20,000
O 24 20,000,000& 20,000
401 Al HI K 201 I 130,000 0 130,000
01 A& HI 130,000 0 130,000
OAMEEEX 130,000, 000& 130,000
405 THabF S| 583,230 0 583,230
01 AL EFSFHSHI 583,230 0 583,230
OSFHLddEZ=dYH 257 583,230
O2SAMNEY 23 79,330
. TEES3AFY 2,000,000& =2CH 4,000
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01 E% 86,378 76,911 9,467
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201 LEre Al 31,620 28,008 3,612
01 AFR 2t 2| H| 31,620 28,008 3,612
OgLbt4=2H| 12,900
OsduM2H 12,900,000& 12,900
O =&l 8,000 15 134l x 128 18,720
202 04| 43,200 40,320 2,880
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